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IMPROVEMENT / SUPPLEMENTARY EXAMINATION, OCTOBER 2022

Part — I11 Time : 2% Hours
SOCIOLOGY Cool-off time : 15 Minutes

Maximum : 80 Scores

General Instructions to Candidates :
® Thereisa ‘Cool-off time’ of 15 minutes in addition to the writing time.
® Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
® Read questions carefully before answering.
® Read the instructions carefully.
® (alculations, figures and graphs should be shown in the answer sheet itself.

® Malayalam version of the questions is also provided.
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Answer all the questions from 1 to 9. Each carries 1 score. 9x1=9)
1.  The term “Sociological imagination” is coined by

(C.W. Mills, August Comte, Karl Marx)

2. Social stratification is based on the existence of between groups and societies.

(equality, inequality, power)

3. The form up marriage within a group is known as

(Exogamy, Endogamy, Monogamy)

4. The term means one’s own culture superior to all other cultures.

(Ethnocentrism, Cosmopolitanism, Cultural lag)

5. The success of survey depends mainly on

(collection up sample, knowledge, time up research)

6.  Fill in the blanks :

Expansion up trade

Division up labour

Increasing productivity
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10.

11.

12.

13.

14.

15.

16.

The changes that takes place slowly in society is

(Revolution, Evolution, Reformative)

Odd one out :

(Tsunami, Flood, Bhopal tragedy)

Karl Marx is associated with the concept

(Class struggle, Social facts, Ideal type)

Answer any 4 questions from 10 to 16. Each carries 2 scores.

What is Sociological Knowledge ?

Differentiate between Status and Role.

Define patriarchal families.

What is meant by self reflexivity ?

Define Social Structure.

Briefly describe the term “Ecology” in your own words.

Define Welfare State.
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17.

18.

19.

20.

21.

22.

23.

Answer any 2 questions from 17 to 20. Each carries 3 scores.

Explain the two types of social control measures with examples.

(a) Authority

(b) How authority is related to domination ?

(2x3=6)

What are the three major environmental issues associated with resource depletion ?

Summarise the social anthropological definitions of Caste.

Answer any 2 questions from 21 to 23. Each carries 4 scores.

Explain 3 intellectual factors lead to the formation up sociology.

Participant observation have its own strength and weakness. Explain.

Fill in the blanks :

Division of Labour

Mechanical solidarity

(2x4=38)
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22.

23.
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Answer any 3 questions from 24 to 28. Each carries S scores. B x5=15)

24. History is far more sociological and social history is the stuff of history. Prepare a note.

25. What are the marriage rules that are followed in your society ?

26. Discuss the three different dimensions of culture.

27. Imagine a society where there is no competition. Is it possible. If not why ?

28. How was the role of industrial revolution in grow of sociology ?

Answer any 3 questions from 29 to 32. Each carries 6 scores. 3x6=18)
29. (a) What are common features of religion ?

(b) How does sociology study religion ?

30. Differentiate between structured and unstructured industrious.

31. What are the features of social order in rural areas ?

32.  Match the following :

A B
G.S. Ghurye Welfare state
A R. Desai Sanskritisation
M.N. Srinivasan Living tradition
P.P. Mukherjee Endogamy
Caste Sociological Butter.
Herbert Risely Anthropology
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24.

25.

26.

27.

28.

29.

30.

31.

32.

24 2)®@3 28 AUHOWBS ¢2103E|08 aBEOBIENS 3 af) FPOTIM OMOHAYL®) >,
5 capod allow. B x35=13)

21@(@0 H)S)DE3 AVINTM aldOo MVIMATlD: aIBI(@o GHNSYDG3 21G1@ aldOo
@BRYDIAMN). B)Fla| QIO D>

@OBOS MVAOOBI @SBAN Ealdd)aN afla12a0 VWABESHIME|d0 ?
MVePIODTIO F 2)AN) Q1Y@ MY AOMeBUB flUdElB:B1H9)M>.

QGO0 LT B0) TVAPOOTD  H)Olaf AVBMaflonocad ?  HeLBI3
af)aDO BHIENE ?

GOVIGAU PPBEHNWOS DGERAUTTTIM AIYAITVIWVAH, Allg BT 18 ANUOBAIG) .

29 2)®@3 32 160WBS ¢21034EBSE08 aBOOBIENC 3 af)GPOVIM DOMOOANL®) >
6 capod allow. (3x6=18)
(@) 2O OalO®) TVANCUIHEHUB aial ?

(b) cVICU PR NGO B)Gla) alClENIND ag)esiElom ?

2150|0236 [SIOMIGH@ROV  GEREMAOTIOW  QAIYDLPAVEBUD
a)OaME00 ?

wadilem caaielagSleael AVINaGld, @;comﬂmg VLA CUH®HUB a3l ?

Gal®)oalS] GalBHND :

A B
G.S. eeno0y CAUN ©I(Yo
A R. ¢30000 VoD@ AUBIBNOEMo
M.N. wglaflatoavad avedlal a10emiee
P.P. msuded] avIneM aflaidadoe
2009 GG 0Bl ®3 Nssdlad
a086mIdg e 0avEl MOOIUVOUDITYo

FY-838 9 P.T.O.



Answer any 2 questions from 33 to 35. Each carries 8 scores. (2x8=16)

33. Explain differential types of social groups with examples.

34. Explain Socialization.
(a) Which is most effective agency of Socialization ? Why ?

(b) Explain the agencies of Socialization.

35. Explain main environmental issues.
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